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Figure 2. Calculator Block Diagram
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b1=13'b1111111100011; //-0.21875 1's complement
b2=13'b0000000011000; //0.1875
b3=13'b1111111000000: //-0.4921875 1's complement
b4=13'b1111111101011; //-0.15625 1's complement
b5=13'b0000000110010; //0.390625
b6=13'b0000000010111; //0.1796875
b7=13'b1111111000000; //-0.4921875 1's complement
b8=13'b1111111001110: //-0.3828125 1's complement
b9=13'b0000000001011; //0.0859375
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Input 1 8'b11101001; //233.0
Input 2 8'b01010001; //81.0
Input 3 8'b10110111; //183.0
Input 4 8'b01110001; //113.0
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Input 5 8'b01010001; //81.0
Input 6 8'b01100001; //97.0
Input 7 8'b00011100; //28.0
Input 8 8'b00110111; //55.0
Input 9 8'b00110010; //50.0

Verilog HDL Output 000000001001001000110; //36.546875

Python Output 000000001001001000110; //36.546875

Input 1 8'b10100010; //162.0
Input 2 8'b11111101; //253.0
Input 3 8'b01100111; //103.0
Input 4 8'b11000001; //193.0
Input 5 8'b10001001; //137.0
Input 6 8'b11110100; //244.0
Input 7 8'b00011000; //24.0
Input 8 8'b00000111; //7.0
Input 9 8'b11111111; //255.0

Verilog HDL Output 000000110110101001100; //218.59375

Python Output 000000110110101001100; //218.59375
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Figure 3. Simulation result of the convolution calculation for
continuos input
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